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( Development Economics with Indian
Perspective—II )
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Pass Marks : 32/24
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The figures in the margin indicate full marks
for the questions

1. Answer/Choose the correct answer from the
following : 1x8=8

(@) Which country is the largest source of
FDI in India?
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(2)

(b) The first Five-Year Plan of India was
based on

(i) Mahalanobis model
(ii) Harrod-Domar model
(iii) Bombay plan

(iv) None of the above

(c) Among the Indian States, which State
has the highest yield (per hectare) of
rice?

(i) West Bengal
(ij) Uttar Pradesh
(i) Haryana

(iv) Punjab

(d) Small farmers are those whose land
holdings are

(i) above 5 hectare
(i) between 3 to 5 hectare
(iii) between 1 to 2 hectare

(iv) below 1 hectare
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(3)

() When was the first industrial policy
introduced in India?

(i) 1947
(i) 1948
(iii) 1951
(iv) 1957

(i India is largest economy of the

world.

(i) 3rd
(i) 4th
(iii) 5th
(iv) 6th

(g9 What is globalization?

(h) According to 2011 census, population
density of Assam is

(i) 390
(i) 398
(iii) 410
(iv) 415
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(4)

2. Write short notes on any four of the following
(within 150 words each) : 4x4=16

(@) Role of public distribution system and
food security

(b) Land reform measures in India
(c) Labour intensive technique
(d) Foreign direct investment

(e) Civil aviation in North-East India

Answer the following questions (within 500 words
each) :

3. (a) Discuss critically the major
achievements and failures of economic
planning in India. 11

Or

(b) Explain the meaning of inclusive
growth. Discuss the steps adopted by
the government of India to achieve
inclusive growth in the country. 348=11
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(5)

4. (a) Give an account on the barriers to
agricultural growth in India. Critically
discuss the role of land reforms in
removing these barriers. 11

Or

(b)) What is green revolution? Critically
examine the role of green revolution in

agricultural development of India.
2+9=11

5. (a) Compare the advantages and
disadvantages  between large-scale
industries and small-scale industries in
the context of development. 11

Or

(b) Discuss the role of industries in
economic development. “Cottage and
small-scale industries play a vital role in
the development of underdeveloped
countries”. Explain. 5+6=11
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(6)

6. (a) What is economic globalization? Discuss
the basic features of economic
globalization. 3+8=11

Or

() What is foreign trade? Analyse the
trends, compositions and direction of
foreign trade in India. 1+10=11

7. (a) What are the problems of agricultural
transition in the hill areas of
North-East? Explain governmental
initiatives for substituting shifting
cultivation in the region. 5+7=12

Or
(b)) What are unique economic problems of
North-East India? Discuss the major
initiatives taken by the government in

recent times to improve infrastructure
in the region. 5+7=12
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